


alue "k" in one or both of the co-ordinates.




It is easy with the Slope formulal




A line passes through the points (2, k) and (5,7).
If the slope is 2, what is the value of k?
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A line passes through the points (-7,-8) and (k,-4).
If the slope is 4 , what is the value of k?
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& A line passes through the points (2, k) and (k,-3).

If the slope is perpendicular to 1/2 , what is the

value of k?
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A line passes through the points (2k , 11) and (k , k+3). \ '«
If the slope is parallel to_3 , what is the value of k?
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